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CBT Practice test model answers

Accounts Preparation II (APII)

Practice assessment 1
Section 1

Task 1.1

[image: image2.png](a) Find the credit sales figure by preparing the sales ledger control account for the year ended 31 March 20X7.

Sales ledger control account
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[Balance bid 6450 [Bank 594041q]
[Credtsaies 60249 [recoverable debts 250lq)
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(b) Find the bank charges by preparing a summarised bank account for the year ended 31 March 20X7.

Bank.

[Balance bid 903 [Purchases ledger control account 26981
[Sales ledger control account 59404 [General expenses 22204
[Cash sales 10200|Computers at cost 300)
[Foan payable 1000 |Drawings 20400)
[Bank charges 138
[Batance cia 434)
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Task 1.2
[image: image3.png](a) Calculate the sales net of VAT for the month of March 20X7..

£ [27100

The gross sales margin is 36%

(b) Calculate the cost of goods sold for the month of March 20X7.

£ [17818

You also have the opening and closing inventory figures:

(Opening inventory £14,500

(Closing inventory £15,900)

(c) Calculate the purchases for the month of March 20X7.

£ [1e018





 Task 1.2, continued

[image: image4.png]{d) Which of the following transactions has the accountant entered? Choose ONE answer.

A bank payment to a credit supplier

A bank receiptirom a credit customer

Abank payment for proprietors drawings

Abankreceiptfor a cash sale

(&) Which of the following is best described as a current asset? Choose ONE answer.

An item of inventory that will be sold in the next month

Adelivery van that will be sold in the next montn

Aloan that will be paid backto the bankin the next month

Apurchase invoice for insurance that will be paid in the next month





Section 2

Task 2.1
[image: image5.png](a) Calculate the sales revenue figure to be included in the income statement for Onyx.

2 [ sa30

(b) Calculate the purchases figure to be included in the income statement for Onyx.

£ [ 108670





[image: image6.png]Onyx Trading
Income statement for the year ended 31 March 20X7

[Sales revenue

[Opening inventory

[Purchases

[Closing inventory

[Cost of goods sold

(Gross profit 64910

Less:

[General expenses

[Depreciation charges

interest paid

recoverable debts

[Wages

[Total expenses

[Profit/10ss for he year





Task 2.1, continued
[image: image7.png](d) Indicate where the drawings should be shown in the financial statements. Choose ONE answer.

As an addition to capital

As a deduction from capital

As an addition to expenses

As a deduction from expenses






[image: image8.png](e) Drag and drop the FOUR correct objectives from the list below into the table on the right.
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Task 2.2
[image: image9.png](a) Prepare the capital account for Terry, the new partner, showing clearly the balance carried down on
1 April 20X7.

Capital account - Terry

[Balance bid o
[Gooawit 24000 Bank 5000
[Barance da 31000

5000 55000

Rivais planning to leave the parinership in two years' time. ltis estimated Terry's good reputation will have
‘added £10,000 extra value to the goodwill by then.

(b) Using this estimate, calculate the amount of goodwillthat wil be introduced into Riva's capital
‘account at the time of her departure.

= [18000

“This will be tothe goodwill account.





Task 2.2, continued
[image: image10.png]{c) Which of the following should be included in a partnership agreement? Choose ONE:

‘Capital and current accounts for each pariner

“The rate at which interestis to be allowed on capital

‘Salaries and wages to be paid to all employees

The partnership appropriation account





Task 2.3
[image: image11.png](a) Calculate the total interest on drawings for the year.

= [3000

(b) Calculate the total salaries for the year.

£ [22000

(€) Calculate the profit available for distribution to the partners.
IMPORTANT: Show additions to the profit for the year as positive and deductions as negative i this
table.

Parinership: B
[Froftfor e year 162000
fnerest on capital 14800
fnerest on drawings 300)
[Sataries 22000
[Proft availabl for istibution for he year 738200





Task 2.3, continued

[image: image12.png](d) Calculate Asma's interest on capital for the year.

£ [7000

(e) Calculate the total amount appropriated to Asma for the year.
IMPORTANT: Show amounts due to her as positive and charged to her as negative in this table.

[Rsma: B
fnerest on capital 7000
fnerest on drawings ~2000)
[Sarary 12000)
[Share of profit for distrbution 1280
[Fotal appropriaton for the vear 58280





Task 2.4

[image: image13.png](a) Calculate the balance of each partner's current account after sharing this loss. Indicate whether
these balances are DEBIT or CREDIT (the answer fields are not case sensitive).

Balance Debit  Credit

Currentaccount Jon £ 4400 ] [creait

Curentaccount  Pat £ 4600 ] [creait





Task 2.4, continued

[image: image14.png]INon-current assets. cost | Accumulated | oarying amount
Depreciation

[Furiture ana fitings 42000 8400 33600)

[Currentassets.

inventory 22590

[Trade receivables 34710

[Cash 290

[Prepayments 1050

[Total current assets 58640

[Current labilities

[Trade payables 21176

VAT 2608

[Accruals 1250

[Bank. 8208

[Total current iabilfties 33240

[Net current assets 25400)

[Netassets. 59000]






[image: image15.png]Financed by: Jon Pat Total
Capital accounts 21000 29000 '50000]
Current accounts 4400 4600 9000

59000]
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